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1

Answer. 

i)  1 , 3 , 5 , 7 , 9 , 11 ,  .  .  .

Term
position 

1 2 3 4 5 .  .  . n

Term

1

= 2 - 1

= 2 x 1 - 1

3

= 4 - 1

= 2 x 2 - 1

5

= 6 - 1
 

= 2 x 3 - 1

7

= 8 - 1

= 2 x 4 - 1

9

= 10 - 1

= 2 x 5 - 1

.  .  .

  2 x n - 1

Algebraic expression of the sequence  = 2 n - 1

ii) 1 , 4 ,  7 , 10 , 13  ,  .  .  .

Term
position 

1 2 3 4 5 .  .  . n

Term

1

= 3 - 2

= 3 x 1 - 2

4

= 6 - 2

= 3 x 2 - 2

7

= 9 - 2
 

= 3 x 3 - 2

10

= 12 - 2

= 3 x 4 - 2

13

= 15 - 2

= 3 x 5 - 2

.  .  .

  3 x n - 2

 
Algebraic expression of the sequence = 3 n - 2 

iii)  1 , 11 , 21 , 31 , 41 , 51 ,  .  .  .
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Term
position 

1 2 3 4 5 .  .  . n

Term

1

= 10 - 9

= 10 x 1 - 9

11

= 20 - 9

=10 x 2 - 9

21

= 30 - 9
 

=10 x 3 - 9

31

= 40 - 9

=10 x 4 - 9

41

= 50 - 9

=10 x 5 - 9

.  .  .
 

10 x n- 9

Algebraic expression of the sequence = 10 n – 9

iv)   1 , 6 , 11 ,  16 , 21 ,  .  .  .

Term
position 

1 2 3 4 5 .  .  . n

Term

1

= 5 -  4

= 5 x 1 - 4

6

= 10 - 4

= 5 x 2 - 4

11

= 15 - 4
 

= 5 x 3 - 4

16

= 20 - 4

= 5 x 4 - 4

21

= 25 - 4

= 5 x 5 - 4

.  .  .

 5 x n - 4

 Algebraic expression of the sequence =  5 n    - 4

2

Answer. 

a) Sequence of the sums of inner angles    = 1800 , 3600 , 5400  , 7200 , 9000 , .............

Term
position 

1 2 3 4 5 .  .  . n

Term
180

=180 x 1

360

= 180 x 2   

540

=180 x 3   

720

=  180 x 4 

900

= 180 x 5
.  .  .

 

180 x n  

 Algebraic expression of the sequence = 180 n 

b) Sequence of the sums of outer angles  = 3600 , 3600 , 3600 , 3600 , 3600  ,  .  .  .

Term
position 

1 2 3 4 5 .  .  . n

Term 360 360 360 360 360 360 360
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Algebraic expression of the sequence =  360 

c) Sequence of the measures of  an inner angle    = 600 , 900 , 1080 , 1200  ,  .  .  .     

Term
position 

1 2 3 4 5 .  .  . n

Term
60

= 180
   3
    

90

= 360
   4
    

108

= 540
   5

120

= 720
   6
  

    900
    7

 

.  .  .

          Algebraic expression of the sequence  =
180 × n
n + 2

d) Sequence of the measures  of  an outer  angles  = 1200 , 900 , 720 , 600  ,  .  .  .      

Term
position 

1 2 3 4 5 .  .  . n

Term
120

= 360
   3
    

90

= 360
   4
    

72

= 360
   5

60

= 360
   6
  

  360
    7

 

.  .  .

 

  Algebraic expression of the sequence = 
360
n + 2

             

3
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Answer. 

i)     Number of red triangles in the first figure            =  3

       Number of red triangles in the second  figure     =  9

       Number of red triangles in the third figure          =  27  

ii) The area of a small triangle in the first figure        =   1
4

   

      The area of a small triangle in the second  figure  =  
1
16

     

    

     The area of a small triangle in the third figure   =    
1
64

iii) The total area of all the red triangles in the first figure         =    3
4

       The total area of all the red triangles in the second  figure   =   9
16

   

      The total area of all the red triangles in the third figure      =   
27
64

iv) a) Sequence of the number of red triangles in the each figure  = 3 , 9 , 27 ,  .  .  . 

Term
position 

1 2 3 .  .  . n

Term
3
 

= 31

9

=32

27

=33
.  .  .

 3n

       

Algebraic expression of the sequence = 3n
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 b) Sequence of the area of a small triangle in the each figure 

                                                                                         = 
1
4

,
1
16

,
1
64

, . . .

Term
position 

1 2 3 .  .  . n

Term

1
4

= ( 14 )
1

1
16

 

= ( 14 )
2

1
64

= ( 14 )
3

.  .  .   ( 14 )
n

               Algebraic expression of the sequence  =
 

( 14 )
n

                    
c)  Sequence of the   total area of all the red triangles in the each figure

                                                                        =  3
4

,
9
16

,
27
64

, . . .

Term
position 

1 2 3 .  .  . n

Term

3
4

= ( 34 )
1

9
16

= ( 34 )
2

27
64

= ( 34 )
3

.  .  . ( 34 )
n  

 

     Algebraic expression of the sequence = ( 34 )
n
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